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A to J are sitting in a row in such a way that distance between the adjacent persons is 5
m. Five of them are facing north and other are facing south. No two adjacent person
face same direction. Each of them like different brand i.e. benetton, celio, guess,
tommy, mufti, levis, puma, monte carlo, pepe and biba. Extreme left and extreme right
end is taken with respect to the person facing north. H likes monte carlo sits second to
the left of I, who likes biba. The person who likes mufti sits immediate right of the who
likes levis. Two person sit to the left of C, who likes benetton. The distance between G
and A is a perfect square. A sits immediate right of C. The distance between G and E,
who likes tommy is a multiple of 3. B sits immediate right of E. Four person sit
between D and F, who does not sit next to E. F faces south. The person who likes pepe
sits fourth to the right of the person who likes celio. More than two person sit
between the person who likes celio and levis. A does not like guess.



Extreme left and extreme right end is taken with respect to the person facing north. H likes monte carlo sits
second to the left of |, who likes biba. The person who likes mufti sits immediate right of the who likes levis.
Two person sit to the left of C, who likes benetton. The distance between G and A is a perfect square. A sits
immediate right of C. The distance between G and E, who likes tommy is a multiple of 3. B sits immediate
right of E. Four person sit between D and F, who does not sit next to E. F faces south. The person who likes
pepe sits fourth to the right of the person who likes celio. More than two person sit between the person
who likes celio and levis. A does not like guess.



A to | are member of a family sitting in a row facing north. There is no single parent in the family. Each
of them has different number of gold rings i.e. 1 to 9, such that the person sitting at the extreme left
end has 1 ring and the person sitting immediate right of him has 2 rings and so on. A’s daughter sits
immediate left of F. One person sit between C’s son and E’s niece. Two person sit between E and G’s
sister. C have an odd number of rings. H’s wife’s father’s only sister’s mother’s only brother is G. E is
the only sister in law of A, who sits third from an end. F is the only nephew of E. F is unmarried. Two
person sit between G and F’s mother. C is the mother of I. Four person sit between G and E’s father. D
does not sit at an end. Two person sit between B and H.
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Each of them has different number of gold rings i.e. 1 to 9, such that the person sitting at the extreme left
end has 1 ring and the person sitting immediate right of him has 2 rings and so on. A’s daughter sits
immediate left of F. One person sit between C’s son and E’s niece. Two person sit between E and G’s sister. C
have an odd number of rings. H’s wife’s father’s only sister’s mother’s only brother is G. E is the only sister in
law of A, who sits third from an end. F is the only nephew of E. F is unmarried. Two person sit between G
and F’'s mother. C is the mother of I. Four person sit between G and E’s father. D does not sit at an end. Two
person sit between B and H.
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A to | are sitting around the circular table. Five of them are facing the center. They like certain
colors. E sits next to D. B sits third to the left of D. The immediate neighbours of E face same
direction. The person who sits next to | likes apple. A, C and F like blueberry. F faces away from
the center. The person who like pineapple sit next to each other. The two persons who faces
away from the center likes papaya. The immediate neighbours of B faces away from the
center. | sits third to the right of H. | and H face away from the center. H and | do not sit next to
D and E.



A to | are sitting around the circular table. Five of them are facing the center. They like certain
colors. E sits next to D. B sits third to the left of D. The immediate neighbours of E face same
direction. The person who sits next to | likes apple. A, C and F like blueberry. F faces away from
the center. The person who like pineapple sit next to each other. The two persons who faces
away from the center likes papaya. The immediate neighbours of B faces away from the

center. | sits third to the right of H. | and H face away from the center. H and | do not sit next to
D and E.



Certain number of persons are sitting in a row facing north. Each of them has different number of
pens. More than 19 persons are sitting in a row. S sits 4™ to the right of P. Q, who has pens in a prime
number between 12 to 18 sits next to S. V does not have 15 pens. Three person sit between Q and the
person who has 5 pens more than Q. The person who has 5 pens more than Q does not sit next to P.
K, who has 26 pens sits exactly between Q and X. One person sit between the person who has 5 pens
more than Q and F, who has 30 pens. Five person sit between F and V, who has 2 pens more than Q.
The person who has 22 pens sits third from the right end. X who has 25 pens sits next to P. Five person
sit between C, who has 12 pens and X. Number of person sit between K and F is same as number of
person sit to the left of C.
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More than 19 persons are sitting in a row. S sits 4t to the right of P. Q, who has pens in a prime number
between 12 to 18 sits next to S. V does not have 15 pens. Three person sit between Q and the person who
has 5 pens more than Q. The person who has 5 pens more than Q does not sit next to P. K, who has 26 pens
sits exactly between Q and X. One person sit between the person who has 5 pens more than Q and F, who
has 30 pens. Five person sit between F and V, who has 2 pens more than Q. The person who has 22 pens sits
third from the right end. X who has 25 pens sits next to P. Five person sit between C, who has 12 pens and X.
Number of person sit between K and F is same as number of person sit to the left of C.
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Ten persons are sitting in the two parallel rows and facing each other. In rowl- A, B, C, D, and E
are sitting and facing south while In row2- P, Q, R, S, and T are sitting and facing north but not
necessarily in the same order. They are belonging to the same family with three generations
and only three married couples. R’s mother sits third to the left of R. The number of persons
sitting to the left of R is the same as the number of persons sitting to the right of C. Only one
person sits between C and C’s father. R is the mother of Q who is the only daughter of C. B’s
father sits second to the right of R’s mother. B is the brother-in-law of C and vice versa. B does
not have siblings. S is the father-in-law of E. A is the father-in-law of C’s spouse. E’s son sits
immediate right of A. T is the mother-in-law of C. The number of persons sitting between D
and E is the same as the number of persons sitting between T and S. As many persons sit
between R’s daughter and P as between C’s mother and T’s daughter.



R’s mother sits third to the left of R. The number of persons sitting to the left of R is the same as the number of persons
sitting to the right of C. Only one person sits between C and C’s father. R is the mother of Q who is the only daughter of C.
B’s father sits second to the right of R’s mother. B is the brother-in-law of C and vice versa. B does not have siblings. S is
the father-in-law of E. A is the father-in-law of C’s spouse. E’s son sits immediate right of A. T is the mother-in-law of C.
The number of persons sitting between D and E is the same as the number of persons sitting between T and S. As many

persons sit between R’s daughter and P as between C’s mother and T’s daughter.
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